HFESRICLIREMEERE (FFHTE)

% = = HE@E | HERE HELE
Hhig 4 &%% | MERE WEEY (a) (ke/10a) (F/ke)

;)i wEE 2 h HhTE 40.00 216 241,272
;)i R ih HTE 50.00 270 301,590
30 =4 14733 ki 25.53 1,251 242,694
30 i) 173> KiE 8.00 392 76,048
30 )= Th KT 4.00 196 38,024
30 SNERE  |Sh KT 8.00 392 76,048
30 SR Th KT 4.00 196 38,024
fagul e h JKFE 2.04 100 19,400
BAH R S ws2 0.01 1 1,095
mAH [EEERE |1/ MALE 0.30 47 10,105
maAE [ FERE O [HL MALE 0.10 16 3,440
maAE [ FERE O [HL IEhiLs 0.30 14 1,512
FAH EERE |[4/2% SEWE 0.60 32 10,208
maAE [ FERE O [HL ws2 2.00 122 133,590
maAE [ FERE O [HL NMEE 1.20 82 14,350
FAH HEKE [E3FY FHRD 0.20 46 3,588
maAE [ FERE O [HL =p5Y 0.50 146 40,004
maAE [ FERE O [HL f-FERE 2.00 289 26,299
FHAH EERE  [HIL FWlA 1.00 192 14,592
mAE [ FERE O [HL LEL 1.20 321 90,201
maAE [ FERE O [HL AxE 0.30 130 42,640
FAH EERE [HIL IEhiLs 1.00 48 5,184
maAH | FERE O |[4/2 eV 1.00 53 16,907
mAE | HERE O [Th e 0.50 26 8,294
FAH EERE [HIL =p5Y 1.50 437 119,738
maAE [ FERE O [HL f-FERE 1.00 144 13,104
A |[EEEE YL WA 1.00 192 14,592
FAH EERE [HIL A E 0.50 216 70,848
mAE [ FERE O [HL h¥E 0.50 95 31,160
FAH EERE [HL IZALA 0.70 88 9,768
FEAH EERE (Bl [FREN 1.00 167 10,187
KBt /NEE 159.98 5917 1,724,506

578 [5ERES h 7k 11.20 549 106,506
5R= |[5RE S f-FERE 0.30 43 3913
B it (IS IFhiLs 4.00 191 20,628
X /VET 15.50 783 131,047

PO R = HIL HDAs 0.02 1 244
PO AR & S AES 0.13 10 7,310
= 5 Zf HIL Z{—bFa—> 1.20 27 5616
= 5 Zf YL fFEhRE 0.20 29 2,639
=% il HIL LEE 0.20 53 14,893
i 5+ Th KT 4.00 196 38,064
T 5|t 173> [IFhLs 1.00 48 5184
T EIES Th NELES 1.00 68 11,900
Rula] FA NIESY JIEhLe 0.50 24 2,592
Rula) EA h SoAHEL 0.40 8 5,400
Rula) EA h NELES 0.30 21 3,675
it EA h WA 0.50 96 7,296
&N Bl 14733 ki 0.04 2 388
&N EriE 173> |[hALs 1.10 173 37,195
&N Bl 7FI=  [IEhulLs 0.10 5 540
&N Bl 7Fo=  [EEnE 0.10 5 1,595
&N EriE NIESY WD 0.30 18 19,710
&N EriE 7Fo=  [EZwSY 0.02 6 1,644
&N Bl NIELY [FLvh 0.10 9 1,485
&N ik X—k)7 _[EWZA 0.05 10 760
&N EriE 7Fo= [EWhCA 0.05 10 760
&N EriE NIESY [R4—Fa—> 0.10 2 416
&N Bl HS5R NE 0.40 27 5670
&N Bl 7Fo=< [KY 0.10 0 231
R BriE HSR HDAs 0.40 11 2,684
Pl X /T 12.31 859 177,891

MEE [ *h HhTE 110.00 594 663,498
mMAE [ F4 173> ki 21.12 1,035 200,790
FHEE [EZSAT ih HhTE 100.00 540 603,180
EHEE [RAT A/ K 10.00 490 95,060
EEE [EMAT  h KFE 26.00 1,274 247,156
HHEE [RAT h beE 12.00 65 72,605
EEE [EAT h JKFE 7.00 343 66,542
mEEE [ZET 14733 KiE 12.00 588 11,409
fE H . G 173> KiE 30.00 1,470 285,180
fEHLE 58 *h HheE 8.00 43 48,031
FEE [NME *h HhTE 180.00 972 1,085,724
EHESD [FHHE [(/22  [KiE 0.65 32 6,208
EHASD [FHHE [(/22 [IEhils 1.79 86 9,288
A [EHHE [(/2 HhTE 2.00 11 12,287
EHAS |[EHHE (/2 f-FERE 0.50 72 6,552
mEHAG |[FAhHF 1/ KiE 23.00 1,127 218,638
BHEG  [FHHF h K@ 60.00 2,940 570,360
EHG |[FAhHF X—bU7  [KEE 1.40 69 13,386
BHEG  [FHHF AXF AA{—ba—> 0.40 9 1,872
B  h ZULE 0.50 59 45135
EEE E@F *h BXE 25.00 383 44811
REEE [ 5= WES 1.00 61 66,795
fEHEG |[EHF E3RY =D 1.00 230 17,940
fEHEG |[EHF X—hY7 |EFE 0.50 134 37,654
fEHEG |[EHF AXE = 0.25 67 18,827
fEHES |[EHF HSR ES 0.50 134 37,654
fEHES |[EHF X—k)7 |G 0.50 216 70,848
fEHES |[EHF h ABVFUSAT SR 60.00 17,700 205,575
fEHES |[EHF HI5R LWHLEL 0.10 19 13414
fEHES |[EHF pkd AES 4.00 299 218,569
EHAG |[AHF 1/ kiR 0.50 25 4,850
fEHES |[EHF 173> KiE 35.00 1,715 332,710
EHAG |[FAhHF *h HhTE 40.00 216 241,272
FEEG  [AR 1/ 7K FE 50.00 2,450 475,300

(HHr53)



HFESRICLIREMEERE (FFHTE)

=% = = HE@E | HERE HELE

Hhigi & &%% | MERE WEEY (a) (ke/10a) (F/ke)
FEG  [AR 2 h 7K Fid 10.00 490 95,060
EHEE | TER Th WA 2.00 383 29,108
EHEE | TER Th EXEN 0.40 67 4,087
HET [F5 *h HTE 40.00 216 241,272
HMAT |&E5 1/ JKiE 40.00 1,960 380,240
HET [F5 h JKiE 10.00 490 95,060
BT [X 473> KiE 13.68 670 129,980
NE J\H 173> KiE 7.00 343 66,542
NE J\Fith 2 h HTE 120.00 648 723,816
NE J\Ftth Th KT 5.00 245 47,530
NE =Hmh 173> KiE 15.00 735 142,590
Fel T h HhTE 30.00 162 180,954
I ST X—k)7 _[/KFE 7.00 343 66,542
PnEHX/NET 1,124.79 42,220 8,251,901
Rt 1,312.58] 49,779.00] 10,285,345.00

(HHr53)



